
 

 

 

Chapter 14 solutions 

 

1. According to Equation (14.7b), the turn on threshold power of the tag should be: 
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2. According to Equation (14.14a): 
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[FT]in which: 
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[FT]we substitute the known values into it and obtain: 
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3 According to Equation (14.14b), we get: 
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=19.6 Db 
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4. The relation between gain and angle θ of a dipole is: 
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[FT]Substitute it into the formula (14.15a): 
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[FT]we get: 
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5.This is an open problem, any answer that agrees with the analysis in Section 14.2 and Section 

14.3 is appropriate. 

 


